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1 ࣍ͷඍ෼ํఔࣜͷத͔Β, 2֊ఆ਺܎਺ઢܗඍ෼ํఔࣜΛ

͢΂ͯબͼͳ͍͞.

ʢΞʣ y′′′ − 2y′′ + 8y = x2 − 1

ʢΠʣ y′′ + 5xy′ − 6y = cos 2x

ʢ΢ʣ y′′ − 3y′ − y = 0

ʢΤʣ y′′ + 7y′ − 6y = ex sinx

ʢղ౴ཝʣɹɹɹɹɹɹɹɹɹ

2 ࣍ͷఆ਺܎਺ઢܗಉ࣍ඍ෼ํఔࣜͷҰൠղΛٻΊͳ͍͞.

(1) y′′ + 6y′ + 9y = 0

(2) y′′ + 7y′ + 12y = 0

(3) y′′ + 2y′ + 4y = 0

3 ࣍ΛٻΊͳ͍͞.

(1)
1

D2 − 2D − 3
e3x

(2)
1

D − 2
(x2 − 2x+ 2)
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4 ఆ਺܎਺ઢܗඍ෼ํఔࣜ

y′′ − 4y′ + 4y = 2x2 − 2 (∗)

ͷҰൠղΛٻΊͳ͍͞. ͳ͓, (∗)ͷಛघղ͕

y = ax2 + bx+ c, ʢa, b, c͸ఆ਺ʣ

ͱͳΔ͜ͱΛར༻ͯ͠΋Α͍.

5 ఆ਺܎਺ઢܗඍ෼ํఔࣜ

y′′ + 2y′ + 3y = 4 cosx (♯)

ͷҰൠղΛٻΊͳ͍͞. ͳ͓, (♯)ͷಛघղ͕

y = a sinx+ b cosx, ʢa, b͸ఆ਺ʣ

ͱͳΔ͜ͱΛར༻ͯ͠΋Α͍.



ଐஜ߻ಅܖٻ 


